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Test Jig Schematic
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Note: A 1 uF by-pass capacitor was placed across the supply connection—not shown above.
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Test Jig
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SWItCh Port In M DIX Wire B goes to RJ-45 (1) pin 6 Tx-
mode Wire C goes from RJ-45 (1) pin 1 Rx+ to RJ-45 (2) pin 3 Tx+

Wire D goes from RJ-45 (1) pin 2 Rx- to RJ-45 (2) pin 6 Tx-

Note: A 1 uF by-pass capacitor was placed across the supply connection—not shown above.
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BLW Waveform
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VA - VB
OCL1

PROBLEM: In D3.2, T is fixed from point B.

When the OCL is reduced, the system time
constant is more difficult to calculate
because the voltage difference between VA
and VB is small.

VA - VB
OCL2 <OCL1



File  Edit
Tek Siop

BLW Waveform

File Edit Yert HorzfAcg Trig Display Cursor Meas Mask Math App MyScope Utilities Help Button
Tok Preview Single Seq 0 A 10 How 08 10:22:4

Vert HorzfAcg Trig Display Cursor Meas BMask Math App MyScope LUtilities Help Buthon

|IEEE 802.3at Task Force, Nov.. 2008, Dallas

VA -VC
OCL1

Solution: Add point C at 20% of decay value
and place point A at 80% of the decay value.

This ensures a measureable voltage and time
difference.

VA -VC
OCL2 <OCL1



Proposed Solution

25.4.4a.1-Equivalent-system-time-constant]

While-transmitting-the-Data- Dependent-Titter-( DD packet-of- TP -PID-A 2 -using-the-
fixture-shown-in-Figure-25—1 the-equivalent-system-time-constant - T - shall-be- greater-than-
2 4uewhen-calculated-using-measurement-points-A-and-Cras-definedun-Figure-25-1 -
Point-Bs-the-point-of-maximum-baseline-wander-droop ~Eelative-tora-voltage-azis-
having-point-B-atits-origin -Hewnbpoint-A-is-a-point-earlierin-time-from-Foint-B-with-a:
moenitudeayoltage-amplitude-(Fq)that-1s-50%-obthe-DLT-Z-upper-envelope-value. -
Eelative-to-a-voltage-axis-hawing-point-Brat-its-origin -Renbpoint-Crs-a-point-between- A-
and-B-with-a smeenudeavoltage-amplitude-(Fel-that-12-20% - ofthe-DMLT-3-upper-envelope-
value - Thetime-between-point- A-and-C-15-T. - These-measurements-are-to-be-made-for-
the-transmitter-pair-and-observingthe-differential-signal-output-at-the -3 DI-with-
intervening-cable-less-than-1-m-long 9

Comment 112
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Proposed Solution Continued

New point

Adjust equation to remove negative
sign, and provide the time constant

vy b ! .
N relative to operating parameters.
10
08
02
0
M LT-3 lower envelope
1 : , | ,
Note:*The'value ot R-represents-the: fixture-resistance -~ The value ot L-represents-the-
PHY block-mductance.
! ~Comment 112
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